
 

Answer on Question # 49829, Math, Algebra 

 

(-3^2+2b^5 using Pascal’s triangle  

Solution. 

Write down the first 6 rows of Pascal's triangle 

1   1 
1   2   1 

1   3   3   1 
1   4   6   4   1 

1   5   10   10   5   1 

So we have 

( ) ( ) ( ) ( ) ( ) ( )5 5 5 4 3 22 2 3 4 5

5 4 3 2

3 2 2 9 2 5 2 9 10 2 9 10 2 9 5 2 9 9
32 720 6480 29160 65610 59049.

b b b b b b b
b b b b b

− + = − = − ⋅ ⋅ + ⋅ ⋅ − ⋅ ⋅ + ⋅ ⋅ − =

= − + − + −  

Answer: ( )52 5 4 3 23 2 32 720 6480 29160 65610 59049.b b b b b b− + = − + − + −  
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